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1
15+1 — of 90
3
Write these numbers in order, starting with
the smallest.
172 217 273 198
smallest largest

A small bag of doughnuts has 5
doughnuts.

A medium bag of doughnuts has 9
doughnuts.

Mr Jones buys 9 small bags of doughnuts.

Miss Henderson buys 7 medium bags of
doughnuts.

Who bought the most doughnuts?

How many doughnuts were bought in
total?
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2,500 — 1,900 144 = 12

At a rugby match between Clevedon and
Bury St Edmunds, there were 2,380 fans.

Write 2,380 in words

Which two triangles are isosceles?

N
NN

Eve thinks of a number. What was the number Eve started with?

She multiplies it by 3.
Then she adds 4.

Her answer is 22.
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—25 + 33

1.4 — 0.522

A toad croaks every 10 seconds.
A frog croaks every 18 seconds.
They both croak at the same time.

After how many seconds will they next
both croak at the same time?

Here is a triangle on a grid.

The triangle is translated so that point A
moves to point B.

Draw the triangle in its new position.

Find the area of each triangle.
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A film begins at 4:30pm
The film ends at 6:10pm

How long did the film last?

Bethany puts eight 20p pieces into the
piggy bank.

Her mum then puts eight 50p pieces into
the piggy bank.

How much money is in the piggy bank?

Jonah has 250 letters to post.

On Monday he posted 90 letters.

On Tuesday he posted 120 letters.
On Wednesday he posted half of the
remaining letters.

How many letters did Jonah post on
Wednesday?
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How many faces does this 3-D shape
have?

Mia buys 2 large packets of sweets and 3
small packets of sweets.

Large
Small

26 sweets

h2 sweets

How many sheets of card did Mia buy
altogether?

Write the three missing digits to make this
addition correct

BPWOU
- (8UE

JBBE0)E
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8
Simplify 30 3948 +- 6

Ezg;r;sJ?L?tligs-mber of people living in City Population
Brighton 273,369
Preston 190,687
Birmingham 1,224,136
Telford 166,641
In a bag there are red, green, pink and What fraction of the beads are white?

white beads.
Altogether there are 80 beads.
There are 23 red beads.

There are an equal number of green, pink
and white beads.

Gareth chooses a square number
He rounds it to the nearest hundred.
His answer is 200.

Write a possible square number that
Gareth could have chosen.

HINT: A square number is a number multiplied by itself e.g. 12 =1 22=4 32=9 42=16



